A BB R E KRR )E 1008 &2 R Yy - B % - %2 =E FEH
4 5 I I P s & ok
p | EF gy | TR, 3 Bk ‘ % E
© R 8w T ETAgS G (22 A)
5 (DD ERHE =8
(X)lg —”LFH r’v’?g%— 17 . — 18— -.
(X)2. - 'ﬁ‘mﬁ%?}” FE - REAE ' 430 PTG
(0)3. 29x11—29 4= 29x(11—1)4a % -
(XD4. #7F & 7w F2,3 LAFHR ) -
-~ EEE (6%
(D). Bk Efmi ] e d il pes (D) EREZ 2m
R EP o R F - K- s 0 T A %l
A~B~Cz menh e
125 0 RIS N6 23 230 SFHA5Y
i—‘:eﬁﬂ/\?r&i&%’ A¥ |H A |8H }
PED SRR Y- Bl |34 |HH
s A BB S R (Cle |84 |10 % T iﬂﬁﬁ (34%)

(DA £(2)B 22(3)C 2()Fn— f£ 5 -
(2)2. - $ HM3HS 8@ Lofai 1 2% > L
S g AP £ RHT B
3 2
(DizF $17 (D1 B ()2 # (43 # -
(1)3.7 ~ 2 A BFApkhz 455 7 a4k
Fe 2 " ki e

3

=
=%

(D27 (245 (D1/28 (M) oif F & R &

3 E
=~ PR (16%)
4 12 2
1. 31—5 + ’y 2. 6= —55
27 3 2
s I5
3. 125+ 100x4 4. 720 + (4x36)
5) 5)
5. 99%x862 + 862 6. 60+-2+60=3
86200 50

1. 2RFE S d Rigey FE? Hoffiie s > R
mﬁﬁv e i ApM o 3 S BB B ¥
?"*ﬁii ) T E - R R > E TR
?13—"];&]7‘5;&‘;’1,7/’]‘ ’}fE. ~ %f;l\fl;_ 15':3 r‘]-'&‘ ’ %%—'éil‘j |y ,LIJ
ST B O~ NBL o (T REC “f‘?”b & 3A))

A KL RE Bz L RE
V4

C ) ¢

D 3% B B & E A% 5 R F 2 JI R

(1) 7 ESFHE 5 ( C~ D )

(2) 7 1 1 W $ AL ph S AL R A A~E )

(3) 7 2 HAphears i fLR A ( B~F )
2. “‘LL’JF‘]’TSL( P E >~ (E =

W2 (<) 7 @5 (>)%

B 5 (<) @ 1-30(<) 1

(5)

2500 +25+5 ( < )2500-+(25+5)

Y EYTS PRVERTY IS
- r () (5 )=
6 8  \ 24 2 ) - U3
1 13 3
4. 2——( S )=_
4 20 5




Hh, &= é 24 E’/fj/gv\ﬁj:\:l y kA E fg—’l‘%’f‘\ E 1 =N }?&af ,g\ (16%)
3 6 i% 4#ﬁ¢%’ﬁuf‘l§iféjfﬁi4sl/—f%w3§
Ao 28D Fle- B RAT 0 B E - Ae kF 6 fR e |

1.

242424 2 s Y doa e oy w L
ﬁ‘ 4 ﬁ;ﬂ«iﬂq’ibi;,‘frlg—fq

b TR BAREET ] S

R R U ot SR AR L%;Lﬁ%,l\ lfj_’
3R 0 3 EAA MY KK GIRHEE > R
- st 2g ARBHED -
MEBLEFE2 2RI F2

AW

2
| [ E
| 4
% 5
D12 Fif bt

4

2.

ELA BT R - Bl
1
=1

p
(1) rap® 5 ¥4ph > B obenit im0 D ek A o et B0 (1DF Mg
(2) mspe 5stfim > ZBaitfge L 2(F ) M R (2)
(3) gz éﬁﬁﬂaZEmﬁﬁE{(m ) 3 (5 )i S -
(4) GH#HE B E_4 24 > GFiri AHE B efc & ﬁﬁ'ffﬁ-%%.l_ FE O Bl FE 2
(8 )am: 3. hoT ] LR ED Mip- WMo Bz
I~ wmu7:46) 25 A o A 130 % S 2 %
1. 4!‘1‘51]%]"] @\%Fm%(f}/o im%ﬁmiﬁ{%"/‘?
130x2+-10—-10 =16
16x6 +2 =48
130+ 48 = 168
%0168 SE AR

REE - BFEHEAL
| —RETESE 1 > HEWEEA
—10m — il 2 - BSEE il

bR L s 1 A8 1Y R

F -
FH2BEA e 12T 20T Fe
Az 4 WL Fe 22 £952) |4 FFEHRES -

2280 ~ » 3 e - @ 120

= ?i’fﬁ—? Bhé g

Lo Ul
o
“/
Pl —\\-
- 4’”‘; '
: ‘m
Lol
GH'
EL“
[
|

(2280 + 120)%x5 = 12000 VR S BEEAMIN
500x30 = 15000 —XETESE 1 > HEEFE
15000 — 12000 = 3000 Hirfl 2 » BEXFFERE

3000 It

R R EEF T 1 e PN )

SR > FE Tk A A (4%)

uz’%k§$¥ 5 'W»ﬂswﬁ#
Bz ke R 2 0

ARBR2EAA))Z AT UFHI- BT 7w #3511 4)

EXBRET e B0 f 0 8- Bz &350

3 % 2(1 A )

2. A FiAEH > 2 EY PARPEE T T
12X(4+5)Efﬁi;;‘ , ;%_» s f@;i,—éﬂ £
FFH%’TEIL?% ,g;ao\)«'-a 4’6;%_0

P LEEESDLL2L,  EFBOB I A (HiEY £7)

|
|
|
|
|
|
|
|
|
|
|
|
|
|
l-l-l-l-—l-T-l-l-l-l-
|
|
|
|
|
|
|
|
|
|
|
|
|

AEL—FRETEEETE 2 RfREEL 4




